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ote: (i) There are in all 30 questions in this question paper. All questions are compulsory.
(i) The question paper consists of four Sections A, B, C and D. Section ‘A’ contains 8 questions
of 1 mark each, Section ‘B’ is of 10 questions of 2 marks each, Section ‘C" has 9 questions of
3 marks each, whereas Section ‘D’ is of 3 questions of 5 marks each.
(ili) Draw neat and labelled diagrams wherever necessary.
(iv) Start from the first question and proceed to the last. Do not waste time over a question, if you
can not solve it.

EUs — ‘A’ (Section-‘A’)

gyu] ATt a7 & ? I
What is Rete Testis ?

g BT DI AT 91T Bl H gRafdd sar g ? 1
Which part of flower change into fruit ?

I el Far 8 ? 1
What is allele ?

OREERT IR # RIATRYT BT Fw3gY | 1
Explain translation in chromosomal mutation.

SIERIET 3R VAT g9 # ARe &1 fw sifar &1 wan foar sirem @ 7 1

Which species of yeast used in the formation of bread and ethanol ?

gruaey w7 8§ ? 1

What is bioreactor ?
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S =T @ SuR W) gy aiRefde d3 &1 fiifas Hifag | 1

On the basis of number, draw a pyramid of grassland ecosystem.

"TEl @l BT ARER FIHU0r BT | 1

Draw a diagram of food chain.
EYog — ‘d€° (Section-‘B’)

fg—fee g i & aHsEy |
Explain double fertilization and triple fusion.
1 vreet o1 98 faeRiy B9 H aaRerd SHifvg — 2
RS, Aed, (e, grader, ege, gl

Arrange the following words in correct evolutionary sequence —

o

Blastula, Morula, Fertilization, Gametogenesis, Gastrula, Zygote

fFerarerss a fFeags # 1 oK & ? i ueeil § e Yldericgs 7 Yfderngs
37T gATEY — 2
(i) 8R® (ii) TTBHT (iii) BRPIRE 37

What is the difference between Nucleotide and Nucleoside ? Make a molecule of nucleotide and
nucleoside from the following material —

(i) Base (i1) Sugar (iii) Phosphoric acid
wroHifes (ol wofidl) @ d= wifel & e fofaw) o9 @ oifd w9 aifde
EIRE VoYt ot Ys=2

Write the name of three species of plasmodium. Which species is most fatal ?

amus fraR ¥ fHeR B sremigd 3R 7 3 499 @ forg Fa1 ARG a=ar 2 ? 399 DY g
ST AT B 7 2
What according to you encourages adolescents to engage with alcohol and drugs ? How can this be
prevented ?

f-oRNeT] g -] H Bl QT AR A1 | 2
Write any two difference between B-lymphocyte and T-lymphocyte.

TG PIRTET A HaR HIRGT 59 gaR 7 8 ? T Sy | 2
How is cancerous cell different from normal cell ? Clarify.

Sld SIRF e YR | HaT BT Iaval Pl 98N & 7 2
How do biofertilisers enrich the fertility of soil ?

feguel wR If¥a® ST & UHg Bl Soold BN | | 2
Write the effect of global warming on Glacier.

IR YUY & WHRT HROT G133 | 2

Write major reasons of air pollution.
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grs — g’ (Section-‘C’)
AMRT FT & ? MR & = i oy | 3

What is Placenta ? Write main functions of placenta.

yerrel FHRoT T & 7 ulene Tl B WA gRT eS| | 3

What is Test Cross ? Explain diagrammatically Test Cross ?

. Rrgy o1 wfoR @t 02 1 O &1 FAR v AT 71 1 BB | SHBT & SAICSY Al Bty

3R o wafd # I g3 BIersy &Y SHGR) U S | 3

The blood group of a baby is O. The blood group of father and mother are A and B respectively. Find
out the genotype of father and mother. Also find out the probable phenotypes of other possible offsprings.

3104l (OR)

S SaRad= srerar g salRady {69 gor o= 8 € ?

How gene mutation or point mutation takes place ?

. form agers o1 59 wEd € ? aft uw aunly gou &1 a9t ua quity 0T 9 9res ol |

N fgr a1, S A1) HaF # I AT B gPR IIS BT 2 N@IRA gRT 9HIISU | 3

What does sex hnked character mean ? If a haemophilic male maries a carrier haemophilic female,
how this disease develop in their progeny ? Explain diagrammatically.

. oIl BT Ud 9T | B9 9 ST W fFu o g 7 3
What drugs can be obtained from Poppy, Coca and Cannabis ?

~ 3MAi¥Ie FUFART BHe @ IdTa- & a4 g g1 forRkey | 3
Write the advantages and disadvantages of production of genetically modified crops.

. I WET Fa7 € ? 99 S BT A gargy A 39 09T ARl § | 2+1=3
What are cry proteins ? Name an organism that produce it.

. SIfITEdl @ BIg AR eror ST | I Had B T B & 2 2+1=3
Give any four characters of epiphytic plants. What is the function of Velamen tissue ?

AA4T (OR)

o g fewgoft forlRay — 1Vo+1Y4=3
() TR (@) wRshfaa
Write short note on following —
(a) Mutualism (b) Parasitism
RG] O] 9T © ? RS STl &1 A8 g I&TeX0T iy | 3

What are transgenic animals ? Give importance and example of transgenic animals.
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GUS — ‘T’ (Section-D’)
LY s
18, T PRIY® SU & B & ? A= yeR & M PRSI B avE SRR 3+2=5

What are contraception ? Explain different methods of contraception

areral (OR) e s

SUIEIGSIL © - :
(m)%ﬁ%mmﬁawmmmwm@am‘ml ;%

Draw a neat and labelled diagram of tansverse seemmﬁ of woman.
(@) WS B IR B BT WD TR R
Draw a neat and labelled diagram of transverse sectign@f pollen sac. 1

Yo et am SR Sl B dey & Rigr a1 49 B | T B TR S
Describe Lamarckism or the theory of inheritance of achers. Explain Neo Lamarckism.

3T (OR) ‘

3o.mﬁﬁaﬁiﬁmﬁﬁaﬁﬁ§?ﬁwﬁml g

What is ecological succession ? Explain in detail.
JdT (OR) L
W%ﬁmﬁwmaﬁﬂmwmm}

Describe Carbon Cycle in nature and explain its importz
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